ERIOFE ZEFN-FERNIFE
ERIIEZEEZEEE FEREHSE
MEEICEAT HAERR
<INERD> (BAL: %)
HERE = {HET BEER 2[EF
EiEA 72 71 70.7
EiEB 53 54 54.7
BHHA 63 62 63.5
BEHB 52 50 51.5
S 58 59 60. 3
</IMEREEA> (Bifir: %)
FEEEEHEOEEEFETORS = HT BER = |
ZEdoL-BICTE 89.2 90.7 90. 8
e 75.0 74. 4 73.8
EOCL 75.2 72.9 74.0
EHMLEETILEEEOREICET 2EE 68.3 66.9 67.0
</IMEREEB> (Bifir: %)
FEEEEHEOEEETORSY = HT BER <=[EH
FEdoL-BICIL 61.5 64. 1 64. 6
e 45.9 44.5 45. 6
EOCL 47.8 48. 1 50. 8
EHMLEETILEEEOREICET 2EE — — —
<INEREHAD> (B 132 : %)
FEEEEEOEEETORSY = HT BER =S
HEstE 59. 1 61.4 62.3
2LAIE 69.9 69.3 72.7
s 60. 3 56. 1 56.9
HEHE% 59.7 58.9 60. 1
<INEREH#HB> (B 132 : %)
FEEEEEOEEETORSY = HT BER =S
HEtE 58. 4 57.0 58. 4
2LAIE 50. 6 50. 6 52. 4
s 62.9 58. 6 59.9
2R 44. 6 44. 0 45. 1
<INEREELD> (BT : %)
FEEEEHEOEHEETORSY = HET BEER £[E
W OB 61.8 59.2 59. 8
THRILE— 50. 3 51.5 53. 1
£ @ 69.5 71.5 73.6
o Bk 47.6 48.9 49.5




<HER> (Bifir: %)

RAERE = CHT BER kS

EEA 75 75 76. 1

EiEB 60 61 61.2

A 66 65 66. 1

BB 45 47 46.9

B R 64 65 66. 1
<thZEREFEA> (Bifi: %)

FEEEEEDOEEETORY = HT BER £F

EICoL BT 71.9 74.2 75.2

= Q= 73.2 73.8 73.9

BEOCL 73.5 75. 4 76.7

Eea L EEXIL L BEOBEICET 2SR 76. 4 75.5 76.5
<HEKEFEB> (B2 : %)

FEEEZEOBEETORS = {HET BER £E

BEYoL BT 77.2 76.1 76.6

g2t 33.3 30.9 31.3

EOCL 51.9 53. 1 53.5

Er L EEXIL L EEOBEICEYT 35E 57.1 49. 6 49.2
<HFRBFA> (B4 : %)

FEHREEEDOEEETORY = HT BER £F

g 68. 2 69. 2 71.1

fis 70. 6 68.7 69. 1

B 55. 4 54.2 55.5

EHOEH 66. 3 62.7 63.5
<HEFERYUFB> (H4: %)

FEREEEOEEETORY = HT BER £F

H LK 48.5 50. 9 51.4

i 45.8 46. 4 46.7

B 52.2 52.8 52.8

EHOEH 35.5 37.5 38.0
<HPEREE > (Bifir: %)

FEREEEDOEEETORS = HT BER £F

IR O SE 1 72.5 74.1 74. 4

b2 agsEE 64.7 63. 4 65. 0

£ YIRISEE 69.5 71.6 72.5

R FE I 55.7 56. 7 57.8




B R EERKRE
X HBRFEIEX. 6 2IHAM LDIEY

X TLTWD (BTIEFESD) 1 TELELNEVZAEFLTNS (EboMEVAEETIE

F£d) | ZEaEHLEE

(B HI%)

HREE AT HER 2
HRZBAEBATWLS 94.0 95.4 94.5
BRICEEWESHADH S 15.1 82.1 84.0
FROSFEYZTFHOTWLSD 95.3 93.5 89.5
RT. BATHEZITTHRZLTLS 14.2 1.2 67.6
BEORRTEC ST S MBPURE 60.5 65 3 63 8
RHoMREIFE1= 65. 6 64. 6 64.0
BROBECTEBLEC L R HE| g, 0.7 0.3
BHOMBEIFE 89.3 84.2 83.95
BHOBETEE LS L, B, HE| o 48 199

[CHf-&EEIZ®RIZIZID




WAERERRAER

X HBRFEIEX. 59BEAMLDIEY

X TLTWAD (BTEHFES) 1 TELELNEVZEFLTNS (EboNEVREETIE
F£d) | ZEOLEE

(B {I%)

BREIE = {XHET BHEE +=H
REZXEBHEBRTLS 94.3 92.6 91.9
BAIZIE&EWEZANH D 13.2 76.0 78. 8
ERORAEFH>TLNDS 96. 7 96. 3 95.1
KT, BN TEEZIITTCHRELTLS 59.4 56.9 52.1
IBOHETEI DTS EEPHESE
CEEAS 3 3 54.7 58. 3 59.3
BFEOMEIIIFE 51.4 54.0 53.9
HEDRBETEE L= EIE, [k, €&
(i & = (2{B 2o 75.9 74.0 712.9
BRoMEIIIFE 48.2 61.6 62.9
BREOBETEELEI LXK, FBE. €S
[T =& FI2®IZILD 59.4 58.2 55.7




